HiLmitela

www.alumitek.ws



_—

OUALITY POLICY

Alumitek designs, manufactures and distributes high
quality supplies for structural engineering, securing by
these means, being the best provider selected by the
customers according to their needs and requirements.

The total satisfaction of each customer deserves our
highest commitment, and turns their expectations into our
number one priority.

mission:

Alumitek offers an innovative experience in industrial
supplies by providing essential elements such as:
high-quality products, the optimal solution on all given
requirements, a personalized and professional service, the
fastest response as well as an efficient delivery time, and
of course, and the lowest cost.

vision:

To be the leading company in the design of structural
technologies, exceeding the expectations of our clients and
competitors, developing engineering through continuous
improvement in processes, products and services.
Alumitek aims to be customer’s natural provider due to this
company’s high quality standards.

‘-’ . itek.ws




BRACKETS: 8

PROFILES: 4
T —— A ELOOH 16 EBAME CONNECTORE ™5
UNIVERSALFASTENER: 7




www.alumitek.lws



PROFILE 20X 20

PART NUMBER 777-2020
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 40 KGS/ MT
STOCK LENGHT 3.00 MTS
PERIMETER 13.24 cm
AREA 1.496 cm?2
CIRCLE 22.243 mm
MOMENT OF INERTIA IX:0.620 cm4

1Y: 0.620 cm4
MASS: 0.180 kg

PROFILE30X 30

PART NUMBER 777-3030
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 774 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 23.61cm
AREA 2.837 cm?
CIRCLE 40.767 mm
MOMENT OF INERTIA Ix: 2.837 cm4

ly: 2.837 cm4
MASS: 0.324 Kg

% 20 Q_\bQQ
v

% / %

) %

% 7,
1.500
5.500

30
&

- q,
D <
7, e//

(@]

©

—- T @
%

' 7.500

1.700

2.200

www.alumitek.lws




PROFILE30X30R

PART NUMBER 777-30R
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 1.425 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 35.37cm
AREA 2.694 cm?
CIRCLE 40.767 mm
MOMENT OF INERTIA Ix: 1.712 cm4

ly: 2.524 cm4
MASS: 0.324 Kg

PROFILE45X 45

PART NUMBER 777-4545
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 1.425 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 35.37¢cm
AREA 5.223cm?
CIRCLE 611632 mm
MOMENT OF INERTIA Ix: 10.125 cm#4

ly: 10.125 cm4
MASS: 0.629 Kg

2.200
1.700

9.200

16.500
8.100

30

45

X

| 10,400 |
20,100

N

TNy

§
s

5,983

www.alumitek.lws



PROFILE45X90

PART NUMBER 777-4590
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 2.389 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 53.32cm
AREA 8.754 cm2
CIRCLE 98.6028 mm
MOMENT OF INERTIA Ix: 18.108 cm4

ly: 72.911 cm4
MASS: 1.054 Kg

PROFILE6O0 X 60

PART NUMBER 777-6060
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 2.389 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 53.32cm
AREA 9199 cm2
CIRCLE 98.6028 mm
MOMENT OF INERTIA Ix: 30.790 cm4

ly: 30.790 cm4
MASS: 1108 Kg

&

20.100
10.400

90

45

45

5.983
16.249

www.alumitek.lws



PROFILE90 X 90

PART NUMBER 777-9090
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 6.3 KGS/ MT
STOCK LENGHT 3.5MTS
PERIMETER
AREA 19.74 cm?
CIRCLE
MOMENT OF INERTIA Ix: 187.67 cm4
ly: 190.04 cm4
MASS: 30 Kg

PROFILET” XT”

PART NUMBER 777-1010E
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 2.389 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 53.32cm
AREA 0.356in2
CIRCLE 98.6028 mm
MOMENT OF INERTIA Ix: 0.036 in4

ly: 0.036 in4

MASS:

0.609 pounds

90
45

10

14,4
R5,1
)
Q'Q‘b
b

o < o

- el [s] o

(o} wn o

ol o =

0.086

0.325

1.000

www.alumitek.lws



PROFILE1.5"X1.5"

PART NUMBER 777-1515E
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 2.389 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 53.32cm
AREA 0.606in2
CIRCLE 98.6028 mm
MOMENT OF INERTIA Ix: 0.134 in4

ly: 0.134 in4

MASS:

1.037 pounds

PROFILE1.5"X 3"

PART NUMBER 777-1530E
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 2.389 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 53.32cm
AREA 1.018 cm2
CIRCLE 98.6028 mm
MOMENT OF INERTIA Ix:0.238in4

ly: 0.945 in4

MASS:

1.743 pounds

1.500

1.500

0.295

0.235

_0.530

1.500

0.750

www.alumitek.ws

3.000




PROFILE 3" X 3”

PART NUMBER 777-3030E
MATERIAL 6105-T5 Aluminum
SURFACE FINISH Clear anodized
WEIGHT 2.389 KGS/ MT
STOCK LENGHT 6.10 MTS
PERIMETER 53.32cm
AREA 1.592in2
CIRCLE 98.6028 mm

MOMENT OF INERTIA

Ix: 1.592 in4

ly: 1.592 in4

MASS:

2.615 pounds




BRACKETS

www.alumitek.ws




GUSSET:

MATERIAL: DIE CAST ALUMINUM

GUSSET PARTNUMBER A B C D E

GUSSET 20 x 20 mm ALG2020 45 180  SLOTO6 180 180
GUSSET 30 x 30 mm ALG3030 64 280  SLOT08 270 270
GUSSET 45 x 45 mm ALG4545 100 420  SLOTI0 420 420
GUSSET 60 x 60 mm ALG6060 100 580  SLOT10 570 570
GUSSET 45x 90 mm ALG4590 100 430  SLOTI0 860 860
GUSSET 90 x90 mm ALG9090 100 880  SLOTI0 860 86.0

Note: All Gussets Includ Fasteners

A A-A
L 4
D

— 4

c

= E
END CAP GUSSET:

n

MATERIAL: PA6
GUSSET PART NUMBER A B C D
END CAP GUSSET 20 x 20 mm ALECG2020 50 28.2 17.6 5.0
END CAP GUSSET 30 x 30 mm ALECG3030 6.0 452 27.6 6.0
END CAP GUSSET 45 x 45 mm ALECG4545 6.0 70.0 40.0 8.5
END CAP GUSSET 60 x 60 mm ALECG6060 6.0 875 576 7.0
END CAP GUSSET 90 x 90 mm ALECG9090 6.0 133.0 876 7.0

A

A-A

3 WAY CONNECTORANGLE 30x30 PART NUMBER

3 WAY CONNECTOR CAST 30x30 AL3WC
SQUARE COVER CAP 30 AL3WCSC
ROUND COVER CAP 30 AL3WCRC

www.alumitek.lws



ACCESORIES
& FASTENER

www.alumitek.lws




T-NUT

MATERIAL: STEEL

T-NUT STEEL PART NUMBER H A B C D
T-NUT 6 SLOT M4 ALTNOBM4 M-4 1.0 57 11.5 3.2 57
T-NUT 8 SLOT M6 ALTNO8BM6 M-6 1.5 77 16 4.5 77
T-NUT 10 SLOT M6 ALTN1OM6 M-6 3.0 97 19 5.8 97
T-NUT 10 SLOT M8 ALTN1OM8 M-8 3 97 19 58 97
-— D — =
‘ p >
) -M-
_ T-BOLT
MATERIAL: STEEL
T-BOLTSTEEL PARTNUMBER M H A B C D L
T-BOLT 8 SLOT M6 ALTBOBMG M-6 30 77 160 77 20.0
' T-BOLT 10 SLOT M8 ALTB10M8 M-8 3.0 97 19.0 97 25.0
: HEX NUT M6 ALHNMG6 M-6 16.0
HEX NUT M8 ALHNM8 M-8 21.0
-M-
|
¥ sl
I [
--!-\
O, z
/
s s
A C c,\b\
B
SQUARE NUT 1 77
MATERIAL: ZINC PLATED STEEL —
@ 16mm M8
o
SQUARENUT PARTNUMBER 1 7
SQUARE NUT M8 ALSNM8
4 mm
— 19 mMm —-

www.alumitek.lws




END CAPS:

GUSSETS

END CAP 20x20 mm ALEC20
END CAP 30x30 mm ALEC30
END CAP 30x30R mm ALEC30R
END CAP 45x45 mm ALEC45
END CAP 45x90 mm ALEC4590
END CAP 60x60 mm ALEC60
END CAP 90x90 mm ALECS0
END CAP 1x1in ALECTx]
END CAP 15x15 in ALEC1515
END CAP 15x3 in ALEC15x3
END CAP 3x3in ALEC3X3

FLOOR TO FRAME CONNECTORS

35 18
|
o
1=

2 A
Ll 160
FLOOR TO FRAME FLOOR TO FRAME
FLOOR LEVEL FRAME BLACK / ALFLFBLACK FLOOR LEVEL FRAME CAST / ALFLFCAST

FLOOR LEVEL FRAME

.*-qm Lhab

FLOOR LEVEL FRAME PART NUMBERD

FLOOR LEVEL FRAME 45MM ALFLF 45 mm
FLOOR LEVEL FRAME 60mm ALFLF 60 mm

www.alumitek.lws



CASTERS:

CASTERS PARTNUMBER D(mm) H(mm) LOAD/kgs
FIXED CASTER PLATE ALFCP63 630 920 80.0
FIXED CASTER PLATE ALFCP75 750 1070 100.0
FIXED CASTERPLATE  ALFCP100  100.0  130.0  135.0
BRAKE CASTERPLATE  ALBCP63 630 920 80.0
BRAKE CASTERPLATE  ALBCP75 75.0 107 100.0
BRAKE CASTERPLATE  ALBCP100  100.0 130 135.0

G
- c ~ /Fﬁa Thru

nE
L
L

e

©
-

H |
1T l
O S
b ¥
LEVELING CASTER PARTNUMBER A B C D E F G H l
LEVELING CASTER SQUARE PLATE 2.5" ALLCSP25 63.5 100 77 92 118 29 M8 70 90
LEVELING CASTER SQUARE PLATE 3" ALLCSP3 91.5 115 85 100 125 31 M8 90 120

f
| __TtrRUER970
LEVELING CASTER

EVELING CASTER HEX PLATE 2.5” ALLCSH25 635 100 77 92 118 29
EVELING CASTER HEX PLATE 3" ALLCSH3 915 115 85 100 125 3]

PARTNUMBER A B C

www.alumitek.lws




EXPEANDED METAL PANEL:

EXPANDEDMETAL  PARTNUMBER D(mm) H(mm)

EXPEANDED METAL PANEL ALM1010 4FT 8FTO

PIVOT JOIN CONNECTOR:

j v il
Al D| f
B TN / f
c 3

PIVOT JOIN CONNECTOR PARTNUMBER N A B C D E
PIVOT JOIN CONNECTOR ALPJC30  8SLOT 225 70 30.0 25 83
PIVOT JOIN CONNECTOR ALPJC45  10SLOT 30.0 20 450 1.8 14.0

PIVOT JOIN CONNECTOR W/HANDLED  ALRJCH30 8SLOT 225 70 300 25 83
PIVOT JOIN CONNECTOR W/ HANDLED ALPJCH45 10SLOT 30.0 2.0 450 18 14.0

CABLE BLOCK:

11
AN
o % Al
B ' AL
MOUEN
22 2
CABLECROSS PART NUMBER N
CROSS CABLE 08 ALCCO8 SLOT 08
CROSS CABLE 10 ALCC10 SLOT 10

www.alumitek.lws



|
© o . &
c D 0
@3 )
&/ 6.6
Al-] -A2-
-B1- | -B2-
PANELS ANDDOOR:  FLISTCHNGES PARTNUMEER A1 A2 B B2 C D
n STANDARD HINGE 30 X 30 ALSH3030 17.5 17.5 29.5 29.5 28.0 48.0
HINGES 30x30 STANDARD HINGE 30 X 45 ALSH3045 17.5 275 29.5 43.5 28.0 48.0
STANDARD HINGE 45 X 45 ALSH4545 25.0 25.0 435 435 28.0 48.0
STANDARD HINGE 60 X 30 ALSH6030 17.5 32.5 29.5 57.5 28.0 48.0
A B
| |
I
| of
! i3
i |
D
PANEL MOUNTING raneLmOUNTING  PARTNUMBER A B C D
PANEL MOUNTING 08 SLOT ALPMOS8 18.5 185 250 SLOTO8
PANEL MOUNTING 10 SLOT ALPM10 29.5 435 28.0 SLOT 10
8.2 10.2
X
T 1
1 p R
o0 m
o 8.8 ~ 11.5

COVER coverstotBLACK PART NUMBER
SLOT. COVER SLOT 08 ALCS08
m COVERSLOTI10 ALCS10

www.alumitek.ws



A

, C 1
4@ [©)
Jles2

to—

‘&

HANDLES: staNDARDHANDLE  PARTNUMBER a A B H
HANDLE SMALL ALHS 1120 93.0 210 36.0
HANDLE MEDIUM ALHM 142.0 122.0 26.0 40.0
HANDLE LARGE ALHL 170.0 152.0 28.0 52.0

b

DOUBLE BALL npousLesaLLcarcH PART NUMBER
CATCH. DOUBLE BALL CATCH ALDBC

16

¢ 1
[ D SW13
. "

s D= SN /&I
= | |z ;
10 28
20
BALLCATCH PART NUMBER

BALLCATCH: .oc e

www.alumitek.lws



80
30

38 '
53
66

LATCHES: varcH PART NUMBER

LATCH W/KEY ALLWK
-— MM
I.‘— 49.7T8 —p.l
¥} = :
ool ’J '|:ﬂ? -ﬁ
[ m—y VT Y
LK \5 [ e 1'5 I:
LOCKING HANDLE PART NUMBER
LOCKING HANDLE ALLH
& 38 28 16
Y raoD [am ]j
e
78 L5)
Ils
e * DOOR

TCH: DORLATCH PART NUMBER

DOOR LATCH ALDL

E~*
o b
Pyl WaARras [ "' e
0~ g
o \ i |
s e o A S T!G
o "E e ~F g
T 4 "'.I".- -4 "
I | L%} -
| ¢
e 1

U DELUXE

LOCKINGHANDLE =i " Mni™ m % & o % %

www.alumitek.lws



www.alumitek.lws



